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Example: 9 [Ni(CO)4]
Ni =28e
4C0O =8e
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Example: 10 [Fe(CO)s]

Fe =26e
5CO =10e
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Example: 11 [Cr(CO)dl
Cr =24e
6CO =12e
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[Mn(CO);] -Na{Hg) > [Mn (CO)s1

Mn=25e Mn=25e
5CO= 10e 5CO= 10e
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[M(CO)nClI] « [HM(CO)n] i CI

Mn(CO)] + H ——  [HMn(CO)
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[Mn, (CO),(]

[Mn(CO)] - 5 (CO)s Mn......... Mn(CO)s

=~ Y 35e Mn= 25e
5CO = 10e
Mn(CO)s =1e

Jladll (Al aaall 3ac 18wty EAN= 36e
Example: 12 Fe,(CO),
2Fe=2x26e = 52e
9CO= 9X2=18e
EAN=  70/2 = 35e
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Fe=26e
4CO= 2X4 = 8e
Fe——Fe = le

CO (bridge) = 1e



) 5 jalaal

CO————F|eé———>F|e -————CO
CO /C(|) CO CO
Example: 13 [Co,(CO)s]
Co=27e
3CO= 3X2= 6e

2CO(bridge)= 2e
Co——Co=le



